 
Martingale against the trend
The limit positions have to be pending orders so we can see them on the chart.

A martingale "string" is provided below which shows the distance between
positions and the size of each lot. Each string is either a buy string or a sell string.

THREE TP RULES, we need to have three options for TP. We can select which one to use.

First TP rule: If the market moves up N pips interval(INPUT), sell.  If it
moves down the same interval, from the sell position, close it with profit, then buy.

For example.  Market goes up 10 pips, sell the market with the 1st position
lot size.  If the market goes back down 10 pips, close it with profit and buy the market where you closed the sell.  We will now give the buy a chance.
 On the other hand, if the market goes up after you sell the market,
then continue to sell the market according to the martingale string.
Every time when the market retraces N pips interval, closes the position with profit and replaces it with a pending order of the same lot size at the same price where it was. Also every time when the market retrace the EA  begins to buy according to the martingale string.
As soon as we have profit from any of the closed positions, the EA checks for loosing orders and close as many as it can, starting with the furthest. 

SECOND TP rule:
If you have active orders from the string and the market retraces (do not close each position on its own interval as in first TP rule), the EA calculates the profit of X% ( INPUT) of the  total DD from the string, then closes all the positions of the string when it sees the TP. 
At the time the market retraces, start to open opposite limit orders according to the martingale string.
THIRD TP rule:
A string is in a DD. It begins to retrace, ONLY the "last" order in the string must be used to close all string positions with TP.  
During this process, the market fluctuates between the last order and the price where it will close all the string's positions. The active orders (excluding the last position)
between the last position and the close price must each close individually
according to their intervals. These positions must be replaced if closed. If the market continues against these positions it will make a "new" last position. When the market gets
to the % TP it looks for, all positions in the string are closed. The TP = floating profit from the opened last position + profit from the positions which close on interval. At the time the market retraces, start to open opposite limit orders according to the martingale string.

If the first string did not make enough retracement to see its profit and all the
string's positions are active and the market continues to move against them, then Y pips(INPUT) from where the first string began, begin with a 2nd string. 
 Here we need two options TRUE and FALSE.
TRUE: The 2nd string has to be able to recoup the DD from string 1+ its own DD and make the TP we look for. TP= DD string 1+ DD string 2 + TP we look for.
FALSE: The 2nd string doesn’t have to increase its lot sizes, it just works normal and as it makes profit it closes the oldest loosing positions from string 1.

After N days if the EA cannot close all positions from the 1st string, then
just close all remaining positions of the 1st string with loss. 

Allow up to N (input) strings to be active if the market continues to move against
the positions without retracement.  

If overall DD from all strings exceeds Z% of highest balance in account then
begin to close oldest positions to keep DD below Z% , without regard to the N days closing option.

The EA starts and creates a start point which is the market price. From there we place sell pending orders if the market goes up N pips interval and buy pending orders if the market goes down N pips interval. 

We need an input for “strings count”. Additional input for the distance between strings, measured from the start point of the first string to the start point of the next string. 

We need to be able to run the EA on multiple currency pairs. If there is profit from any pairs, the EA will have to be able to use it to close the loosing positions from the most loosing strings from the same or another pair. 





We need inputs for each position up to 20.
Martingale string positions:
Distance between positions.    Lot size is % of current balance or the start balance whichever is higher.

Example:
1.            10                              1%
2.            20                              2%
3.            30                               4%
4.
5.
6.
[bookmark: _GoBack]



different strings different intervals

